39p163

Il suffit donc de convertir en m3

=1,472m3

1472dm3

agn>
CXRENTIIITE

mm?3

39n>
3J112WIUad

cm?3

39N>
2J112WIdap

dm?3

1472dm3*=1,472 m?

v 29n>

211=oW

m3

1472

39n>
3113WPI3p

dam?3

3gn>
5119W0153Y

hm?3

29n>
2119Wony

km3

0,01m3

10000cm3

10000cm?*=0,01 m?

2gh>
s139WNNIW

mm?3

29h>
3J12WIIUdd

cm?3

29n>
a112WId3p

dm?3

10000

— -

39h>
2119w

m3

29h>
2J12WPI3p

dam?3

agnd
3119Wo0193Y

hm?3

39n>
S119Woly

km3

0,013m3

13 000 000 mm?3

29N>
a1 3wINw

mm?3

29nd
2J12WIU2d

cm?3

agn>
3J12WI23p

dm?3

13000000

13000000mm3=0,013 m?3

' 29n>

2119W

m3

29n>
3112WDO3p

dam?3

29n>
9119W03155Y

hm?3

agn>
3J13Wol

km?3




